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Self-Administered Questionnaire

General instructions
My name is Michal KoZa and currently | am conducting a research at VSE, Prague. The purpose of this
questionnaire is to assess cultural values across various nations. These questionnaire does not assess
your knowledge or expertise, but instead it focuses on your personal opinions and beliefs. Your
responses are anonymous and confidential. Please do NOT write your name on this questionnaire, so
that it cannot be linked to you personally. The results of this study will be used solely for the purpose of my
research, and will not be disclosed to third parties. Your participation in this study is voluntary. After

finishing the questionnaire, please submit it to the HR person who distributed it to you.

Basic information

Please fill in the following information about yourself. This information will be used exclusively for statistical purposes.

1. Your nationality: o Czech o Japanese o Other:

o Under 20 o 30-39 o 50-59
2. Your age:

o 20-29 o 40-49 o 60 or over
3. Your position in the company:
4. Name of the company:
5. How long do you work in the current

____months

company:

Your personal views(1)

Which statement does better reflect your believes? Please indicate the position that you think is most correct using the

above scale

1. In order to be competitive, it is In order to be competitive, it is
better to stick with current O O O O O important to seek new technology
technology because it is proven because it is better

2. If a solution doesn’t solve a If a solution doesn’t solve a problem,
problem, it is important to try it is important to continue with it,
something else because it might . . N . . because the effects may take some
be a wrong solution time to occur

3. If the supervisors’ requests are not If the supervisor’s requests are not
clear, it is my fault because | do not m| m| | m| m| clear, it is his fault because he did not
understand them enough explain them sufficiently.

4. In determining how to achieve In determining how to achieve goals,
goals, employees should have a m| m| | m| m| employees should be provided with
certain degree of freedom detailed instructions

5. ltis more efficient to hire a It is more efficient to train a manager
manager from external sources m| m| | m| m| from internal sources who knows
who knows “new approaches” “how things are”.




6.

If supervisor’s ideas don’t make

sense, subordinates should at O O O

least try them out

If supervisor’s ideas don’t make

sense, subordinates should challenge

them

Your personal views (2)

To what extent do you agree or disagree with the following statements? Please answer accordingly to

what you feel appropriate about each of the following sentences.

(1 — strongly agree, 2 — agree, 3 — neither, 4 — disagree, 5 — strongly disagree)

1. Persistent effort is the best way to achieve results 01 02 03 04 a5
2. Inreal life circumstances, the occasional adjustment of rules
. ) 01 02 O3 04 os
to overcome problems is unavoidable
3. Acompany’s rules should not be broken, even when the
employee thinks breaking the rule would be in the 01 02 os3 04 m
company’s best interest.
4. ltis more efficient to improve things radically, than to
. ) . 01 02 03 04 os
improve them gradually over time (with the same outcome).
Job-satisfaction
How satisfied are you with the following aspects of your job?
(1 — very satisfied, 2 — satisfied, 3 — neither, 4 — dissatisfied, 5 — very dissatisfied)
1. Number of hours spent working i o2 o3 04 os
2. Wage (monetary reward) | o2 o3 04 os
3. Training and education | o2 o3 04 os
4. Overall satisfaction 01 02 o3 04 os
Conflicts
Please state what you think about the following statements.
(1 — absolutely true, 2 — true, 3 — neither, 4 — not true, 5 — absolutely not true)
1. There exist many conflicts between you and
. 01 02 O3 04 05
management of other than your own nation.
2. There exist many conflicts between Japanese
01 02 O3 04 05
management and Czech management.
3. There exist many conflicts between Japanese
01 02 O3 04 05
management and Czech operators.
4. There exist many conflicts between Czech
01 02 03 04 05
management and Czech operators.
5. Itis more effective to solve work-related problems
without the presence of managers from another i o2 o3 04 os
nationality




Experience related to working in Japanese companies
Please answer following questions related to your Japanese companies related background. In case

you answer “yes” to a question, please indicate the length of the experience as well.

1. Have you worked for a Japanese company Yes No
before? (___months)

2. Have you taken a cross-cultural skills Yes No
seminar, course or presentation? (___ days)

3. Have you taken an official Toyota Vs
Production System seminar, course or No

(___days)

presentation?

4. Have you obtained unofficial Toyota
Production System education? (on-the-job Yes No
training, discussions with colleagues, short (___ days)
presentations etc.)

Thank you very much for your cooperation in this questionnaire.

In addition to the questions you have just answered, please use the below space to comment on

covered topics, topics that should have been covered, or write any additional comments you have.

Comments




Dotaznik

Zakladni instrukce

Jmenuji se Michal Koza a momentalné vedu vyzkum na Vysoké Skole ekonomické v Praze. Cilem

vyzkumu je komparativné posoudit kulturni hodnoty riznych narodd. Dotaznik nehodnoti Urover Vasich

znalosti nebo zkuSenosti, ale zamérfuje se vyhradné na Vase osobni nazory a minéni. VSechny odpovédi

jsou anonymni a divérné. Prosim nepiste na dotaznik Vase jméno. Vysledky prizkumu budou pouzity

vyhradné pro potifeby mého vyzkumu a nebudou zpfistupnény tfetim stranam. VaSe ucast je dobrovolna.

Po vypInéni dotazniku jej prosim odevzdejte HR osobé, od které jste dotaznik dostali.

Zakladni informace

Vypliite prosim nasledujici informace o Vas. Tyhle informace budou pouzity vyhradné pro statistické potieby.

1. VasSe narodnost: o Ceska o Japonska o Jina:

o 20 a méné o 30-39 o 50-59
2. Vasveék:

o 20-29 o0 40-49 o 60 a vice
3. Vase pozice ve firmé:
4. Jméno firmy:
5. Jak dlouho pracujete v momentalni

mésicl

firmé?:

Vase osobni nazory (1)

Ktery vyrok Iépe odpovida Vasim nazorim? Prosim oznacte kfizkem pozici, ktera nejpfesnéji reflektuje Vase minéni.

1. Pro konkurenceschopnost je Pro konkurenceschopnost je
potfebné drzet se momentalni | m| potfebné hledat novou technologii,
technologie, protoze je odzkouSena protoze je lepSi

2. Kdyz feSeni problému nefunguije, je Kdyz feSeni problému nefunguje, je
potfebné vyzkouset néco jiného, O O potfebné v ném pokracovat,
protoZe feseni mlze byt Spatné. protozZe se vysledky dostavi pozdéji

3. Kdyz pozadavky nadfizeného nejsou Kdyz pozadavky nadfizeného

jasné, je to moje chyba, protoze jim O O nejsou jasné, je to jeho chyba,
dostatecné nerozumim protozZe je nevysvétlil dostatecné

4. V rozhodovani o zplisobech V rozhodovani o zpdsobech
dosahovani cild by zaméstnanci méli | 0O | dosahovani cild by zaméstnanci
mit svobodu volby meéli mit pfesné instrukce

5. Je efektivnéjsi najmout manazera Je efektivnéjsi vytrénovat manazera
z externich zdroju, ktery zna ,nové O O z internich zdroju, protozZe vi, ,jak se
pristupy® véci maji“

6. Kdyz napady nadfizeného nedavaji Kdyz napady nadfizeného nedavaji
smysl, zaméstnanci by je méli | m| smysl, zameéstnanci by je méli
alespon vyzkouset kriticky zhodnotit




Vase osobni nazory (2)

Do jaké miry souhlasite nebo nesouhlasite s nasledujicimi vyroky? Zaskrtnéte prosim ¢tverec, ktery

nejlip odrazi Vas nazor. (1 — velmi souhlasim, 2 — souhlasim, 3 — ani souhlasim, ani nesouhlasim, 4

— nesouhlasim, 5 — velmi nesouhlasim)

1. Trvalé sili je nejlepsi zplUsob jak dosahnout vysledky o1 o2 o3 04 o5
2. Vrealném zivoté se obCasné upraveé pravidel k pfekonani
o1 o2 o3 04 o5
problému neda vyhnout
3. Firemni pravidla by neméla byt porusend, i kdyz si
zameéstnanec mysli, Zze by poruseni bylo prospélo zajmu o1 o2 o3 04 o5
firmy
4. Je efektivngjsi zlepSit véci radikalng, nez je vylepSovat
o1 o2 o3 04 o5

pomalu a postupné (se stejnym vysledkem)

Spokojenost s praci

Jak jste spokojeny/a s nasledujicimi aspekty Vasi prace? (1 — velmi spokojen/a, 2 — spokojen/a, 3 —

ani spokojen/a, ani nespokojen/a, 4 — nespokojen/a, 5 — velmi nespokojen/a)

1. Pocet hodin stravenych v praci o1 i O3 04 05

2. Plat (finanéni odména) 0 1 02 03 04 o5

3. Tréninky a vzdélani 01 02 O3 04 05

4. Celkova spokojenost o1 02 o3 04 o5
Konflikty

Oznacte prosim, co si myslite o nasledujicich vyrocich (1 — velmi souhlasim, 2 — souhlasim, 3 — ani

souhlasim, ani nesouhlasim, 4 — nesouhlasim, 5 — velmi nesouhlasim)

1. Mezi mnou a managementem jiné narodnosti ve
o . _p 01 02 O3 0 4 as
firmé existuje hodné konfliktu
2. Mezi japonskym a ¢eskym managementem existuje
0 1 02 03 0 4 o5
hodné konfliktd
3. Mezi japonskym managementem a ¢eskymi
o Y e 01 02 O3 0 4 as
operatory existuje hodné konflikt{
4. Mezi Ceskym managementem a Ceskymi operatory
L . L 0 1 02 03 0 4 o5
existuje hodné konfliktd
5. Je efektivnéjsi fesit problémy spojené s praci bez
, Lo _ 0 1 02 03 0 4 o5
pritomnosti manazeru jiné narodnosti




Zkusenost spojena s praci v japonskych firmach
Odpoveézte prosim na otazky spojené s pracovni zkusenosti v japonskych firmach. V pfipadé

odpovédi ,ano” téz uvedte délku Vasi pracovni zkusenosti.

1. Pracoval/a jste nékdy pro japonskou firmu? Ano Ne
(___ mésicu)

2. Zucastnil/a jste se nékdy seminare, kurzu Ao
nebo prezentace o mezikulturnich C_dni) Ne
dovednostech?

3. Zucastnil/a jste se nékdy oficialniho Ao
seminare, kurzu nebo prezentace Toyota C_dni) Ne
Production System?

4. Dostal/a jste nékdy neoficialni Skoleni Ao
Toyota Production System? (Skoleni o C_dni) Ne
pribéhu prace, diskuse s kolegy atd.)

Dékuji mnohokrat za Vasi spolupraci.

VyuZzijte prosim nasledujici prostor pro jakékoli dalSi komentare tykajici se tématu tohoto dotazniku.

Poznamky
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